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A Chloroplast consists of (§Rdelas & affiesT $9T Feafaf@a & & i T §7)

Grana (3<)
Fluid Stroma (ff&eRr)

c. Stromal Lamellae (fifaehr geferen)
Al of these (3137 & Taf).

T &

e

The Thylakoid membranes are associated with (ATTTFATHS STeell T T § 2
a. Itis the site of Light Reaction (IJg erTar 31TRTHAT T T §1)

b. Trapping of light (JSRTeT ST TGLITYOT)

c. Site of Energy fixation (35T &hT f&2r{iaom)

d. All GRied g3

Photosystem | and Photosystem Il are associated with: (PIEITETEH | TAT BIEATEH Il HT TeT

e 7 & frad 8?)
a. P680 and P700 b. P700 and P680 c. P600and P780  d. P780 and P600

Fluid Mosaic Model was proposed by...... . (‘FeI3 A Aol fhedsh ganT fgam aram Um)
a. Singer and Nicolson (R 3R fSeprereeT)
b. Robert Brown (J&¢ §T347)

c. Schlieden (2e83<T)

d. Anton Von Leeuwenhoek (TSTeT dlel oJdeIgleh)

Which of the following statement is correct? (feafaf@d FUAT H & P TT FAT T 8?)
a. Prokaryotes have membrane bound nuclei (NRIRATE & SeelgeFd Feeh BT 1)

b. Eukaryotes have membrane bound nuclei (ZhREe # fSecligerd sheeh IaT &)

c. Prokaryotes have membrane bound organelles. (NeRIRATE & TSTeelgeFd 31T g 1)

d. Prokaryotes have 80S type of ribosome. (e RATE F 80S ThR I ISHHH &Il 1)
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11.

The Enzyme Nitorgenase is ...... . (FATSEISST TS ... gl)
a. Mo-Fe Protein (Mo-Fe i)

b. Cu-Fe protein (Cu-Fe 9IcI)
c. C-Feprotein (C-Fe UII)
d. Mo-Cu protein (Mo-Cu 9I<IeT)

The Enzyme Nitrogenase is highly sensitive to (FATScIolaiel Tasd AT & @ fras 9fa ged 3l
RECTRIEI))

a. Nitrogen (sTSgIoteT)

b. Hydrogen (gT83IeT)

c. Sulphur (FeHI)
d. Molecular oxygen (HT0deh 3MTardIolel)

No. of ATP required for the production of 1 Ammonia (NH3)
(TP 3FATAAT (NH;) & 3cdiged & fow fohdsl ATP Fr S g1ef?)
a. 8ATP

b. 6 ATP
c. 4ATP
d. 2ATP
Leg-Haemoglobin found to be present in (SRT-grAITEIA fohdd 9T SATAT 87)
a. Shoot of plant (M & d=)
b. Leaf of plant (di4f & Ia)
c. Fruit of plant (Gielf & Wer)

d. Nitrogen fixing root nodules (ATSgIoTeT TEULHIUT HL aTel STET. HT IMS)

Which one of the following microbes is not associated with NITRIFICATION.
(RFtifeha & & it AT GEHASIE, ASEHOT,  HIGH el 57?)

a. Nitrosomonas (ATSCIATAIAT)
b. Nitrobacter (FT3gIsecX)

¢. Nitrococcus (sTTSCIehIgehd)
d. Pseudomonas (FgSIHAATH)

The process of conversion of Atmospheric Nitrogen to Ammonia is called
(@TIIROT H Alog ATSeretel & AAAAT 7 qRadT FAT Fgelrdl §?)
a. Nitrogen fixation (FT8gioteT [EALOT)

b. Nitrification (ATSf¢fthanere)
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c. Ammonification (3 faTthanereT)
d. Denitrification (f3=TafehahareT)

Deficiency symptoms of Actively mobilized minerals appears first in

afsha 3T & 1fareiier T@aY arel deal o TIATCAAT & oT8T0T TATYH foha 0T 7 U TTd 8id 672
a. Older leaves (JXT=T )

b. New leaves (T Td)

c. Fruits (Bel)

d. Flowers (T*9)

Pollen germination is associated with which of the following mineral? (FeFfaf@d & & @i ar @,
WETHTT & HPIOT A HecH 1)

a. Zinc (B)

b. Boron (¥RI=)

c. Silver (Rex)

d. Iron (elig Tcq)

Formation of Synaptonemal Complex take place at (FA=iceierer TS &1 HATOT i gIaT 87)
a. Leptotene (eITeIceT)

b. Zygotene (STTIANENT)

c. Pachytene (dfhfeeT)

d. Diplotene (T3caiifesT)

1% stable product in C; cycle is (C;dsh H ST aTell Ugell TARY 3cUie i @T ’6"?)
a. 3 Phosphoglyceric acid (PGA) (3- BIERITadRS 37Fd)

b. Oxaloacetic acid (OAA) (ITFTATTAICH 31Fd)

c. Phosphoenol pyruvate (PEP) (BTl JII%dc)

d. RuBP (TSTellsT STSHIFHC)

Who discovered Oxygen? (3TTar&TSTel hl @iel fohdar i)
a. Blackman (sclehateT)

b. Joseph Priestley (STA% WEce)

c. T.W.Englemann (&1.3scg Uarerdlel)

d. Ingenhousz (31)



17. Which among the following is called as ‘Amphibians of Plant of Kingdom’? (‘9Td SToTdl &l 3HIWR’ fohdd
gl AT £7)
a. Algae (3faTen)
b. Fungi (hdeh)
c. Bryophytes (STAIHISC)
d. Pteridophytes (cRaIHIse)

18. Kranz Anatomy is characteristic feature of (Shef QMR foh gier T farwar 87)
a. C;Plants (C,; 91
b. C, plants (C,uleT)

c. C,plants (C,Gle)
d. CAM plants (CAM di€T)

19. Which one is an Egg Laying Mammal? ({31 & & ahleT 33T TaTarI §7)
a. Platypus (SeifeTs)
b. Kangaroo (%)
c. Whale (ggeT)
d. Flying fox (FelTS3T HIEF)

20. ......... is not a true fish. (fA# # & ST, ITEAT H Tk ATl oTgl g7
a. Dog fish (3197 fthan)
b. Sea horse (TG €1ST.)
c. Star fish (ART #ASeIN)

d. Flying fish (38.7 AGeN)

21. Which one is a characteristic feature of phylum Arthropoda? (fFe=ifaif@a & & +ie1, 3mfdEr @g &r
T GG AV §?)
a. Presence of collar cell. (TR IfRIeHT T 3UTEAT)
b. Present of water vascular system. (STel Hagel o= T 3uiEufa)
c. Presence of Radula. (X forgar &r 3ufeyfa)
d. Presence of Joint appendages. (Hfergerd dre T 3ufEufd)

22. Double fertilization is feature of: (QTg<T 8=, et & & fhashr vog@ faRIvaT &7)
a. Bryophyte (STIIHISC)
b. Pteridophyte (CRSTHIET)
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c. Angiospersm (9T 91Ed)
d. Gymnosperm (3T=TTgcleiTSi)

Micorrhiza is an association of (‘HTShRISST e & & fordsh TgANMcHS T i &2ATAT §7)
a. Algae and Fungi (aret 31X aeh)

b. Algae and Bacteria (¥aTel 3R Sftaroy)

c. Root of Higher plants and Fungus (3Td 9Tl &l 518, 3{X shdeh)

d. Bacteria and Fungi (SfaTu] 31X shash)

The member of rhodophyceae are commonly called (‘TSRS e & AdId W T X 1
gl 87)

a) Brown algae (ST AaTe)

b) Green algae (&7 faTeN)

c) Red algae (el 2drel)

d) Blue algae (frerm arer)

Dominant pigment in chlorophyceae....... . (‘FARIBIEE" H ag?n'q?r g § Ao arem auie

................. )
a) Chlorophyll a (qoTgRd ©)

b) Chlorophyll b (oigRa &)
c) Chlorophyll ¢ (qofgRa &)
d) Bothaandb (GoigRa T 3R & gi=)

Which of the following is not an example of green algae...... . (ﬁmﬂ%ﬁ H T Fild g darad F1 TH
3CTeR0T 76T &?)

a) Volvox (arediad)

b) Chlamydomonas (FIHTSSIAIATH)

c) Chara (3pR)

d) Laminaria (ef&=Ram)

In rhodophyceae the food is stored in the form of.... (‘USIHIBH" WHE H e el &1 HESROT ..........
& &7 H BT gel)

a) Manitol (HfIcren)

b) Starch (¥erd)

c) Laminarin (SfAaRe)

d) Floridean starch (FeRT3TT Tem)
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A commercial product ©* AGAR’ which is used to grow microbes is obtained from

(‘39 ATHE TGS 3cdlG ol Tifed e 7 & fhad giar 87?)
a) Gelidium (Gifarf3aa)

b) Gracilaria (&)

c) Carrageen (FIforeT)

d) BothAandB (A 3T Ba&)

Type of ribosomes present in mitochondria is .... (ATSCIHIfe3dT H UTAT SATIdTell ASAISAH...)
a) 70s type (70S HhY)
b) 80s type (80S 9hRY)
c) 50stype (50S 9hY)
d) 60s type (60S HhY)

Which one of the following statement is false. (=TTl @ & & Sl TT FAF T £7)

a) Amyloplast stores carbohydrates . (FHSeIdeh, HIGIEC T HSROUT HFIAT g 1)

b) Aleuroplasts stores starch. (W& oTdeh, TSI T g IAT &)

c) Elaioplast stores oil. (deT oTaeh, el T HIE HIATE 1)

d) Chloroplast is responsible for trapping light energy. (8Rdclae, TR FalT sl T et & ToIT ST
gl)

In Cell cycle, Replication of DNA takes place at: (IR Tsh & fohdl TROT & S.TA.T T T g
?)

a. Gjphase (G, 3dE)

b. G phase (Gy 1€

C. S phase (S 3dEAN)

d. G, phase (G, 3dE)

Which one is also called as Reductional division of the Cell cycle?

HITRIenT fFTSTeT T vl IR &l REaFereTdl [AHTSI o ATH & HY ST 1T &2
a. Mitosis (FA3cIeH)
b. Meiosis (F3TEw)

c. Amitosis (THTSCITA)
d. All (@)



33. The process of Crossing over takes place at (‘ShTf&eT 3MaX” Fr gfehar v WOT A T9eoT gl 8?)
a. Leptotene (eIeIere)
b. Zygotene (STIMNCIA)
c. Pachytene (3eTe)
d. Diplotene (f3cailélen)

34. Non proteinous constituent of an Enzyme is called (USITSH &I dg HTT SiT Wl T ST =Tl aid)
a. Co-factor (Hg-p{h)
b. Apoenzyme (TAr TSITSH)
c. Holo enzyme (grell TSISH)
d. A proteinous enzyme (WIETTF TSITSH)

35. Sub units of 80S Ribosome is (80S IBaTNH d1 [AffiesT 37 sos e & T FiT &?)
a. 50 Sand30S (50S 3{X 30S)
b. 40Sand60S (40S 31X 60S)
c. 40Sand40S (40S 3R 409)
d. 60Sand20S (60S 31T 20S)



